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QUESTION 1
Refer to the exhibit
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An administrator is configuring an MPLS VPLS Matrtini solution on PE-1. The VPLS solution should connect customer A
sites 1, 2, and 3 Where should the administrator specify the LDP peers and pseudo wire (PW) label for the PWs?

A. in service instances on interfaces Ten2/0/1 and Ten2/0/2
B. in a Virtual Switch Instance (VSI) for customer A

C. in a service instance on interface G1/0/1

D. in a global cross-connect group

Correct Answer: A

QUESTION 2

An HP IRF virtual switch with two members is implementing SPBM. The administrator wants to ensure that the master
can fail without causing topology changes or changes in forwarding tables in the SPBM region. Which setting helps
support this requirement?

A. tandem replication for multicasts

B. persistent MAC address for IRF

C. Bidirectional Forwarding Detection (BFD) Multi-Active Detection (MAD) for the IRF link

D. non-stop-forwarding for SPBM

Correct Answer: C
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QUESTION 3

A customer is deciding whether to purchase a switch in the HP 5900AF Series or the HP 5900CP series. Which need
requires the customer to choose the HP 5900CP switch instead of the 5900AF switch?

A. enhanced visibility for VM-to-VM traffic and Ethernet Virtual Bridge (EVB) solutions

B. OpenFlow support and compatibility with HP software-defined networking (SDN) solutions
C. LAN/SAN convergence support and native FC port connections

D. support of 10GbE to the server edge and 40GbE uplinks

Correct Answer: D

QUESTION 4

Refer to the exhibit
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An administrator is planning an MPLS solution and wants to make sure that traffic from 10.1.0.0716 to 10.2 0.0/16 takes
the best path. The solution is not using Traffic Engineering (TE). How does PE-1 choose between the label advertised
for 10.2.0.0/16 by P-4 and by P-5?

A. based on which peer is the higher priority LDP peer

B. based on which peer is the next hop in the best route in the IP routing table

C. based on which link has the lower LDP cost

D. based on which link has the lower MPLS cost

Correct Answer: B

QUESTION 5
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An administrator configures two VSANs on an HP Comware IRF virtual switch. The IRF members connect to a server
with two Converged Network Adapters (CNAs) One CNA is connected to VSAN 1. and the

other is connected to VSAN 2 The storage target for the server is also connected to VSAN 1 and VSAN 2. What is
required for this setup to work?

A. The HP switch must place the ports connected to the server CNAs in a link aggregation set to static mode
B. The server CNAs must support multi-path I/O (MPIO)

C. The HP switch must place the ports connected to the server CNAs in a link aggregation set to dynamic (LACP)
mode

D. The HP switch must support multi-path 1/0 (MPI0O).

Correct Answer: A
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